Transforming Graphs

Fm Original Graph is called y:f(m

Outside the bracket changes the y
y does what it says

y = 2f(x) y=f(x)-5

multiply y values by 2 take 5 from the y values

Inside the bracket changes the x
X does the opposite

y = f(5x) y = f(x - B)
wde x values by 5 add 5 to x values

-

y = f(x) y = f(x-5)

The x values have increased by 5
x changes inside the bracket

it does the opposite
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The x values gone down 4
x changes inside the bracket

it does the opposite




The y values have gone up 2
vy changes outside the bracket

it does what it is told

The y values have doubled.
y changes outside the bracket

it does what it is told

The x values have halved.
% changes inside the bracket

it does the opposite
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The y values multiplied by -1

y changes outside the bracket

it does what it is told J




